
Multiplication Word Problems

1. Iced buns cost 26p each. Dina has to buy 5. How much money does 
she spend? 

2. Tania needs 4 pieces of wood, each measuring 32cm, to build her 
frame. How much wood does she need altogether? 

3. A ticket to ride the dodgems is 85p. Dad buys 4 for the family. 
How much money does he spend? 

4. A head teacher needs to order 30 chairs for each of his 6 classes. 
How many chairs does he need to order? 

5. A shelf holds 18 books. There are 6 shelves in the book corner. 
How many books could the class have? 

6. What is the product of 45 and 9? 

7. There are 7 groups of children for sports day. Each group has 25 
children in it. How many children are taking part in sports day? 

8. Over the week, an ice cream man sells 63 ice creams per day. What 
is the total number of ice creams sold? 

9. Tickets to a show at the theatre cost £18 each. How much would it 
cost for a family of 8 to go to the show? 

10. Marshmallows are sold in packets of 15. How many marshmallows 
do I have if I buy 9 packets? 
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